8/ (0 o) Qe p.ud-a

AE2 &f\/@; Q mlk Ao @ i

A[ "'Z“ xfszg e - dap,

2 A1 f‘)(-(/ Ga’“‘”x)a{'m @dj {,Jjuo)(}fj

Tfﬁ?"[g - fm@z”f* oS,

ikl anz
'f'T’ f scd (L )

2- n il

::.Jé—r-—r- [x.ﬁwmnl ~L j&t&mx}a{’w]
Z t'f f +Q_L,___Q61n{ll }

= a " B o
=%+ #7%777 ((*I)M-_}J = )’C x 2rsm
e de
% (1~ ﬂ“) >
2 hipr I
85 i’ “‘““—E—____

,\f/{»éwjmocc [} 22]__ OP'O

_ S - M}C‘f‘})f/‘g/;dﬂfc’/‘owwcrfb
et v s ne

e

eéjl\ysfa ‘zq‘;zv = = O’{L’f
e6§.\‘)3irl 2 k)/ = C

32t




S ; -
\Ijz'ad(@ Q\ - O)B;fg,;j) C'J)J’{’C“J Jf}{:-‘u}
&'11@ @.0- f@ﬁ'fl "i“\’;ﬁ,) — 3£ U/;;/w,j’
L & = ) e
o ((\Pgi'“ i 31"5;)

Ay st Pt qfé‘C’L%““gg,J(o(_)U/ﬁ\/
3 6o 2 a 0 O)f/g )= _»9 a

t.la b o i i
Lo o Sl g lze gﬁﬁjwi
L\U;Lo o o 0 ) b -\

by g\ [ % 2@ i | 3
L e e T R el
He. . 0/32 B o, @) |

o s ’*’/Off 031':_@0 = do/q #_)___(.b'
(@ 0 bj( O(?'}:o = o{a-fa;}zv“ o4 g

o b ¢ Ay

Q’L b’L

rPgoD e / > (ffféiy Do
dJ/j/w’-}

/z!‘g_‘q,gfalb};"” + fah® ”g}a>+b /\)D >] == ZT/ot




W > —61—[ VPN [P = VKPP D AL

=TS | P S Ve %>

SIS IP> 41y 1> ()

———

R

; \ ("_/JJ\JCJJ(D Q’}UF/) —_——
| %% = 145 1S 16y

GO g
SIpPsere s g8 43 S sl b
H’>]+’>H—> O/{-u-"-'\r-‘(o G)/C)lf)UJ/OJ C/ﬁy}d/é"é)&pﬁw

WP Sl L P, P B s

B 12> = ~L [ =Pl + 4513 5 Hy o> 1]
S 4SI=y T A
[3, 5 AT l[?—?'»—ﬂﬁf' > 117 ]r"

i > =
’3/2’),5;1>_. L= 7

=l s i f M/»/éché;)cf@ﬂf—'*u’“"&“’

— e

O ¢ By (e e S Ly

:,_5‘1’ f(_f(,]/Jca _‘Z:
({h_fz? Z)/[b)/\r’p{?)q\ﬂ:—' /)))jbf*/f‘ e““ \_,J(o_) OJ;@?)

) e )/(//)pd/ﬁg)/djw)u C) O,(/J K&)
)

DL 0, s o o
¥
g gl

-
G)/ (.u-;)g’

Lz} F

-t

= P—, (s ) D6 g")f
L= G ¢ L) (v—» AU J au)@JC)jw(ucrf
AR N)woﬂ s l=e 6. =)
e c;u») l=) O o /\»JJ&J*' LT atec? TR
f)’jt (1 ’/'L)((]}/Lfd 5/ SLEL S’—-j_z (’L:/CQ

P E/z : AT?S/Z ?.'C;“‘(\ZJ) Vw



Fo .
Ve Fdloe -

;. = 4 4E 68 I3

b4 .
by el g ;H b=1 (3, 27 1)
V%27= L0000 22, -2y =153 1%, A,C‘;/ |
’2) I > —-I \;D>|'9'> *r “,I),‘:“} 9 JQ,"O:&L [';“‘>Iiw>+‘/‘%_“,v>“7;

R —(}é: [l '\,—-!>|.\,r> b2 |;°>il,o>_j- filiad ’;--I>Y

2~
+7_: g i g0 wis @ ¢
Y. =/ o , o=l
L S llh 1'?
>§ = -ﬁ—*[\l—z@w(-—g‘&pcp) )(9,] = %t,) - —2p 08¢ 90
) > g

ﬂ[ﬁcgiﬁ&é”’o} X2 = Jo= A 5904 e
%_ :

7

[éS_B .i&e )K;L —r;(ﬁ&&):(
L p3(36%-1)

;( T @ /(.:- _0 CJ.MC—}‘J_,@‘J'“"" 6 ...... i

]1,2} ﬂ( Jﬂ()a)(N—eV) 0\/ UVTE(UK\Q-rU\{r)

!’S (2G 8- ﬁ&)

Y

2,292 (U T )+ 1Y) =g =4y - (v
12,15 = L] R 4= i)+ (4ot RY )l 0y il gy
12, - '>_[lid\UtK_V.HV)f(—UTlU)J“\/] /’:[ 7= ¢
| 2,07 [( Ut 1) -1 ) + (U 1) V*"”V)’L*Q\U)[fg]
:g[umxgwm_@%@-—w g% )f
= 25 (0., +0Y 20\ )

U



